
6406533039392.   
 

6406533039393.   
 

6406533039394.   
 

 
Question Number : 154 Question Id : 640653902440 Question Type : MCQ Calculator : Yes
Correct Marks : 4
Question Label : Multiple Choice Question
What is the time complexity of the given algorithm ?
Options :

6406533039395.   
 

6406533039396.   
 

6406533039397.   
 

6406533039398.   
 

   
   

AppDev1
Section Id : 64065364076
Section Number : 8
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 32
Number of Questions to be attempted : 32
Section Marks : 100
Display Number Panel : Yes
Section Negative Marks : 0
Group All Questions : No
Enable Mark as Answered Mark for Review and 
Clear Response :

No

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 640653133696
Question Shuffling Allowed : No
   



Question Number : 155 Question Id : 640653902444 Question Type : MCQ Calculator : Yes
Correct Marks : 0
Question Label : Multiple Choice Question
THIS IS QUESTION PAPER FOR THE SUBJECT "DIPLOMA LEVEL : MODERN APPLICATION 
DEVELOPMENT I (COMPUTER BASED EXAM)" 
 
ARE YOU SURE YOU HAVE TO WRITE EXAM FOR THIS SUBJECT? 
CROSS CHECK YOUR HALL TICKET TO CONFIRM THE SUBJECTS TO BE WRITTEN. 
 
(IF IT IS NOT THE CORRECT SUBJECT, PLS CHECK THE SECTION AT THE TOP FOR THE SUBJECTS 
REGISTERED BY YOU)
Options :
6406533039412.  YES

6406533039413.  NO

Sub-Section Number : 2
Sub-Section Id : 640653133697
Question Shuffling Allowed : Yes
   

Question Number : 156 Question Id : 640653902445 Question Type : MCQ Calculator : Yes
Correct Marks : 3
Question Label : Multiple Choice Question
Consider the following Python code snippet. 
 



Options :
6406533039414.  a - 4, b - 1, c - 6

6406533039415.  a - 5, b - 3, c - 6

6406533039416.  a - 5, b - 1, c - 2

6406533039417.  a - 5, b - 3, c - 2

   

Question Number : 157 Question Id : 640653902446 Question Type : MCQ Calculator : Yes
Correct Marks : 3
Question Label : Multiple Choice Question
Consider the following HTML document. 
 



 
Options :

6406533039418.   
 

6406533039419.   
 

6406533039420.   
 

6406533039421.  



 
 

   

Question Number : 158 Question Id : 640653902447 Question Type : MCQ Calculator : Yes
Correct Marks : 3
Question Label : Multiple Choice Question
Consider the following flask application. 
 

Options :
6406533039422.  1-c, 2-a, 3-b

6406533039423.  1-c, 2-a, 3-d



6406533039424.  1-c, 2-e, 3-d

6406533039425.  1-c, 2-a, 3-e

   

Question Number : 159 Question Id : 640653902456 Question Type : MCQ Calculator : Yes
Correct Marks : 3
Question Label : Multiple Choice Question

Options :

6406533039454.   
 

6406533039455.   
 

6406533039456.   
 

6406533039457.   
 

   

Question Number : 160 Question Id : 640653902457 Question Type : MCQ Calculator : Yes
Correct Marks : 3
Question Label : Multiple Choice Question



Options :

6406533039458.   
 

6406533039459.   
 

6406533039460.   
 

6406533039461.   
 

   

Question Number : 161 Question Id : 640653902460 Question Type : MCQ Calculator : Yes
Correct Marks : 3
Question Label : Multiple Choice Question
The lens of an HDD can read data on the rotating disk with the speed of 42,000 bits per second. 



The disk is designed such that 600 bits pass under the lens for every revolution of the disk, what 
should be the maximum speed of disk in RPM so that the lens does not miss any data?
Options :
6406533039470.  70 RPM

6406533039471.  100 RPM

6406533039472.  4200 RPM

6406533039473.  6000 RPM

   

Question Number : 162 Question Id : 640653902463 Question Type : MCQ Calculator : Yes
Correct Marks : 3
Question Label : Multiple Choice Question



Options :
6406533039482.  Only statement i is correct

6406533039483.  Only statement ii is correct

6406533039484.  Statements i and iii are correct

6406533039485.  Statements ii and iv are correct

   

Question Number : 163 Question Id : 640653902465 Question Type : MCQ Calculator : Yes
Correct Marks : 3



Question Label : Multiple Choice Question

Options :

6406533039490.   
 

6406533039491.  



 
 

6406533039492.   
 

6406533039493.   
 

   

Question Number : 164 Question Id : 640653902469 Question Type : MCQ Calculator : Yes
Correct Marks : 3
Question Label : Multiple Choice Question



 

Options :
6406533039506.  



 
 

6406533039507.   
 

6406533039508.   
 

6406533039509.   
 

   

Question Number : 165 Question Id : 640653902470 Question Type : MCQ Calculator : Yes
Correct Marks : 3
Question Label : Multiple Choice Question



Options :

6406533039510.   
 

6406533039511.   
 

6406533039512.   
 

6406533039513.  



 
 

   

Question Number : 166 Question Id : 640653902473 Question Type : MCQ Calculator : Yes
Correct Marks : 3
Question Label : Multiple Choice Question

Options :
6406533039523.  Many-to-Many

6406533039524.  One-to-Many

6406533039525.  One-to-One

6406533039526.  The tables are not at all related

   

Question Number : 167 Question Id : 640653902476 Question Type : MCQ Calculator : Yes
Correct Marks : 3
Question Label : Multiple Choice Question
Read the statements given below carefully and select the correct option. 
 
Statement 1:If an element having an ID and a class is styled externally using both its ID and the 
class, then for the same attribute, it will acquire styling from the latest selector in order. 
 
Statement 2: If an element that belongs to two different classes is styled externally using both the 
classes, then for the same attribute, it will acquire styling from the latest class in order.
Options :
6406533039535.  Both statements 1 and 2 are correct

6406533039536.  Both statements 1 and 2 are incorrect

6406533039537.  Statement 1 is correct but statement 2 is incorrect

6406533039538.  Statement 2 is correct but statement 1 is incorrect

Sub-Section Number : 3



Sub-Section Id : 640653133698
Question Shuffling Allowed : Yes
   

Question Number : 168 Question Id : 640653902459 Question Type : MCQ Calculator : Yes
Correct Marks : 4.5
Question Label : Multiple Choice Question

Options :

6406533039466.   
 

6406533039467.   
 

6406533039468.   
 

6406533039469.   
 

   

Question Number : 169 Question Id : 640653902462 Question Type : MCQ Calculator : Yes



Correct Marks : 4.5
Question Label : Multiple Choice Question
Consider the following graph that represents the variation in bandwidth of a network for an entire 
day (24 hours). Three users were connected to the network at three different times of the day. 
What is the total data consumed in GigaBytes by all the users in 24 hrs? 
 

Options :
6406533039478.  633.6 GB

6406533039479.  54 GB

6406533039480.  120 GB

6406533039481.  432 GB

   

Question Number : 170 Question Id : 640653902466 Question Type : MCQ Calculator : Yes
Correct Marks : 4.5
Question Label : Multiple Choice Question



Options :

6406533039494.   
 

6406533039495.   
 

6406533039496.   
 

6406533039497.   
 

   

Question Number : 171 Question Id : 640653902472 Question Type : MCQ Calculator : Yes
Correct Marks : 4.5
Question Label : Multiple Choice Question



Options :
6406533039519.  45

6406533039520.  90

6406533039521.  180

6406533039522.  270

Sub-Section Number : 4
Sub-Section Id : 640653133699
Question Shuffling Allowed : Yes
   

Question Number : 172 Question Id : 640653902454 Question Type : MCQ Calculator : Yes
Correct Marks : 2
Question Label : Multiple Choice Question
Consider the following flask app and Jinja2 template. 
 



Options :

6406533039446.   
 

6406533039447.  



 
 

6406533039448.   
 

6406533039449.   
 

   

Question Number : 173 Question Id : 640653902455 Question Type : MCQ Calculator : Yes
Correct Marks : 2
Question Label : Multiple Choice Question

Options :
6406533039450.  A → 1, B → 2, C → 3, D → 4

6406533039451.  A → 4, B → 3, C → 2, D → 1

6406533039452.  A → 4, B → 1, C → 2, D → 3

6406533039453.  A → 3, B → 2, C → 1, D → 4

   

Question Number : 174 Question Id : 640653902458 Question Type : MCQ Calculator : Yes
Correct Marks : 2
Question Label : Multiple Choice Question



Options :

6406533039462.   
 

6406533039463.  



 
 

6406533039464.   
 

6406533039465.   
 

   

Question Number : 175 Question Id : 640653902464 Question Type : MCQ Calculator : Yes
Correct Marks : 2
Question Label : Multiple Choice Question
You have a DRAM module with bus width of 64 bits, clock speed of 2 GHz, and operating in DDR 
(double-data-rate or two values per clock cycle) mode. What is the maximum bandwidth (in Giga-
bytes per second) of data transfer achievable with this module?
Options :
6406533039486.  16

6406533039487.  8

6406533039488.  32

6406533039489.  128

   

Question Number : 176 Question Id : 640653902467 Question Type : MCQ Calculator : Yes
Correct Marks : 2
Question Label : Multiple Choice Question

Options :
6406533039498.  AC0A FE01

6406533039499.  CA10 EF0A

6406533039500.  AC01 0AEF

6406533039501.  AC10 FE0A

   

Question Number : 177 Question Id : 640653902475 Question Type : MCQ Calculator : Yes
Correct Marks : 2
Question Label : Multiple Choice Question



Which of the following is true about the term “stateless” in the client-server model?
Options :
6406533039531.  The server keeps the state of the client to respond to the required request.

6406533039532.  Server use variant HTTP methods to respond to the client's request.

6406533039533.  Server ready to respond to the client's request without knowing anything 
about the client.

6406533039534.  Server use the URL to convey context to the client.

Sub-Section Number : 5
Sub-Section Id : 640653133700
Question Shuffling Allowed : Yes
   

Question Number : 178 Question Id : 640653902448 Question Type : MSQ Calculator : Yes
Correct Marks : 2 Max. Selectable Options : 0
Question Label : Multiple Select Question
Consider the following Python code snippet “code.py”. 
 

Options :

6406533039426.   
 

6406533039427.   
 

6406533039428.   
 



6406533039429.   
 

   

Question Number : 179 Question Id : 640653902453 Question Type : MSQ Calculator : Yes
Correct Marks : 2 Max. Selectable Options : 0
Question Label : Multiple Select Question
Consider the following flask application. 
 

Options :

6406533039442.   
 

6406533039443.   
 

6406533039444.   
 

6406533039445.   
 

Sub-Section Number : 6
Sub-Section Id : 640653133701
Question Shuffling Allowed : Yes
   



Question Number : 180 Question Id : 640653902449 Question Type : MSQ Calculator : Yes
Correct Marks : 3 Max. Selectable Options : 0
Question Label : Multiple Select Question
Consider the following flask application. 
 

Options :

6406533039430.   
 

6406533039431.   
 

6406533039432.   
 

6406533039433.   
 

   

Question Number : 181 Question Id : 640653902471 Question Type : MSQ Calculator : Yes
Correct Marks : 3 Max. Selectable Options : 0
Question Label : Multiple Select Question



Options :

6406533039514.   
 

6406533039515.   
 

6406533039516.   
 



6406533039517.   
 

6406533039518.   
 

   

Question Number : 182 Question Id : 640653902477 Question Type : MSQ Calculator : Yes
Correct Marks : 3 Max. Selectable Options : 0
Question Label : Multiple Select Question

Options :

6406533039539.   
 

6406533039540.   
 

6406533039541.   
 

6406533039542.   
 

Sub-Section Number : 7



Sub-Section Id : 640653133702
Question Shuffling Allowed : Yes
   

Question Number : 183 Question Id : 640653902461 Question Type : MSQ Calculator : Yes
Correct Marks : 4.5 Max. Selectable Options : 0
Question Label : Multiple Select Question

Options :

6406533039474.   



 

6406533039475.   
 

6406533039476.   
 

6406533039477.   
 

   

Question Number : 184 Question Id : 640653902468 Question Type : MSQ Calculator : Yes
Correct Marks : 4.5 Max. Selectable Options : 0
Question Label : Multiple Select Question
Consider the following flask application. 
 



Options :

6406533039502.   
 

6406533039503.   
 

6406533039504.   
 

6406533039505.   
 

   



Question Number : 185 Question Id : 640653902474 Question Type : MSQ Calculator : Yes
Correct Marks : 4.5 Max. Selectable Options : 0
Question Label : Multiple Select Question

Options :

6406533039527.   
 

6406533039528.   
 

6406533039529.   
 

6406533039530.   
 

Sub-Section Number : 8
Sub-Section Id : 640653133703
Question Shuffling Allowed : No
   

Question Id : 640653902450 Question Type : COMPREHENSION Sub Question Shuffling 
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix 
Calculator : None
Question Numbers : (186 to 187)



Question Label : Comprehension

 
 
Based on the above data, answer the given subquestions.
Sub questions
 
Question Number : 186 Question Id : 640653902451 Question Type : MSQ Calculator : Yes
Correct Marks : 4.5 Max. Selectable Options : 0
Question Label : Multiple Select Question

Options :

6406533039434.   
 

6406533039435.  



 
 

6406533039436.   
 

6406533039437.   
 

 
Question Number : 187 Question Id : 640653902452 Question Type : MCQ Calculator : Yes
Correct Marks : 3
Question Label : Multiple Choice Question

Options :

6406533039438.   
 

6406533039439.   
 

6406533039440.   
 

6406533039441.   
 

   
   

MLF
Section Id : 64065364077
Section Number : 9
Section type : Online
Mandatory or Optional : Mandatory


